
MATHS

BOOKS - BEYOND PUBLICATION

STATISTICS

Example

1. The mean value can be calculated from both

ungrouped and grouped date . Which one you

think is more accurate ? Why ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7bdjtTdrfJT4


Watch Video Solution

2. When it is more conveninet to use grouped

date for analysis ?

Watch Video Solution

3. Is the result obtained by all the three

methods the same when finding the mean ?

Watch Video Solution

https://dl.doubtnut.com/l/_7bdjtTdrfJT4
https://dl.doubtnut.com/l/_p7ln8XI29H5g
https://dl.doubtnut.com/l/_qwZquL46d7TS
https://dl.doubtnut.com/l/_bk5wRCVKsYwM


4. If  are sufficiently samll , then

which method is an appropriate choice ?

Watch Video Solution

xi and fi

5. If  are numerically large numbers ,

then which methods are appropriate to use ?

Watch Video Solution

xi and fi

https://dl.doubtnut.com/l/_bk5wRCVKsYwM
https://dl.doubtnut.com/l/_QivgfP1CHvsi


6. The marks obtained in mathematics by 30

students of Class X of a certain school are

given in table below. Find the mean of the

marks obtained by the students.

Watch Video Solution

7. The distribution below shows the number of

wickets taken by bowlers in one day cricket

matches. Find the mean number of wickets by

https://dl.doubtnut.com/l/_mLYWoulLnR6T
https://dl.doubtnut.com/l/_A9aR0rbqy2NO


choosing a suitable method. What does the

mean signify?

Watch Video Solution

8. A survey was conducted by a group of

students as a part of their environmental

awareness programme, in which they collected

the following data regarding the number of

plants In 20 houses in a locality. Find the mean

https://dl.doubtnut.com/l/_A9aR0rbqy2NO
https://dl.doubtnut.com/l/_p6PHo58r8FzD


number of plants per house.

Watch Video Solution

9. Consider the following distribution of daily

wages of 50 workers of a factory.

find the mean daily wages of the workers of

the factory by using an appropriate method.

Watch Video Solution

https://dl.doubtnut.com/l/_p6PHo58r8FzD
https://dl.doubtnut.com/l/_MCp5tut3EQKc
https://dl.doubtnut.com/l/_jr6lgbT0fGiH


10. The table below shows the daily

expenditure on food of 25 households in a

locality.

Find the mean daily expenditure on food by a

suitable method.

Watch Video Solution

11. To find out the concentratin of  in the

air (in parts per million, i.e., ppm), the data was

collect for 30 localities in a certain city and is

SO2

https://dl.doubtnut.com/l/_jr6lgbT0fGiH
https://dl.doubtnut.com/l/_M0No8mhjX0gd


presented below.

Find the mean concentration of  in the air.

Watch Video Solution

SO2

12. A class teacher has the following

attendance record of 40 students of a class

for the whole term. Find the mean number of

days a student was present out of 56 days in

the term.

https://dl.doubtnut.com/l/_M0No8mhjX0gd
https://dl.doubtnut.com/l/_EDOfE7WI45w5


Watch Video Solution

13. The following table gives the literacy

rate(in percentage) of 35 cities. Find the mean

literacy rate.

Watch Video Solution

14. Find the mode of the following data. 5, 6, 9,

10, 6, 12, 3, 6, 11, 10, 4, 6, 7.

Watch Video Solution

https://dl.doubtnut.com/l/_EDOfE7WI45w5
https://dl.doubtnut.com/l/_PEtGzAlnU1cN
https://dl.doubtnut.com/l/_ifhACFtEO6Tj


15. Find the mode of the following data.

20,3,7,13,3,4,6,7,19,15,7,18,3

Watch Video Solution

16. Find the mode of the following data. 

2 , 2, 2 , 3, 3, 3, 4, 4, 4 , 5 , 5, 5, 6, 6 , 6,.

Watch Video Solution

https://dl.doubtnut.com/l/_ifhACFtEO6Tj
https://dl.doubtnut.com/l/_sDm3fyfvawTe
https://dl.doubtnut.com/l/_6GD0RKLhx37Y


17. Is the mode always at the centre of the

data ?

Watch Video Solution

18. Does the mode change , if another

observation is added to the data in Example ?

Comment .

Watch Video Solution

https://dl.doubtnut.com/l/_9HdQmz1JFzxL
https://dl.doubtnut.com/l/_SDHpiiFvzxsk


19. If the maximum value of an observation in

the data in example 4 is changed to 8, would

be the mode of the data be affected?

Comment.

Watch Video Solution

20. It depends upon the demand of the

situation whether we are intersted in finding

the acerage marks obtained by the students

or the marks obtained by most of the students

https://dl.doubtnut.com/l/_YklNtSbxyfKS
https://dl.doubtnut.com/l/_TFJD8oXSkPJa


. 

What do we find in the first situation ?

Watch Video Solution

21. It depends upon the demand of the

situation whether we are intersted in finding

the acerage marks obtained by the students

or the marks obtained by most of the students

. 

What do we find in the second situation ?

Watch Video Solution

https://dl.doubtnut.com/l/_TFJD8oXSkPJa
https://dl.doubtnut.com/l/_HCK9PJUpuCPV


22. It depends upon the demand of the

situation whether we are intersted in finding

the acerage marks obtained by the students

or the marks obtained by most of the students

. 

What do we find in the first situation ?

Watch Video Solution

23. The wickets taken by a bowler in 10 cricket

matches are as follows: 2 , 6 , 4 , 5 , 0 , 2 ,1, 3 ,2

https://dl.doubtnut.com/l/_HCK9PJUpuCPV
https://dl.doubtnut.com/l/_XKgHz0OIrNIC
https://dl.doubtnut.com/l/_359iXMF88q5p


,3. Find the mode of the date .

Watch Video Solution

24. A survey conducted on 20 households in a

locality by a group of students resulted in the

following frequency table for the number of

family members in a household.

Find the mode of this data.

Watch Video Solution

https://dl.doubtnut.com/l/_359iXMF88q5p
https://dl.doubtnut.com/l/_smqW1pqAnuPa
https://dl.doubtnut.com/l/_Vd5XQCRX0vjF


25. The marks distribution of 30 students in a

mathematics examination are given in the

adjacent table. Find the mode of this data.

Also, compare and interpret the mode and the

mean.

Watch Video Solution

26. The following table shows the ages of the

patients admitted in a hospital during a year:

https://dl.doubtnut.com/l/_Vd5XQCRX0vjF
https://dl.doubtnut.com/l/_SRIXNxP2YmTn


Watch Video Solution

27. The following data gives the information

on the observed life times (in hours) of 225

electrical components:

Determine the modal life times of the

components.

Watch Video Solution

https://dl.doubtnut.com/l/_SRIXNxP2YmTn
https://dl.doubtnut.com/l/_h74oHMhTES00


28. The followinig data gives the distribution

of total monthly household expenditure of

200 families of Gummadidala village. Find the

modal monthly expenditure of the families.

Also fing the mean monthly expenditure.

Watch Video Solution

29. The following distribution gives the state-

wise teachers, student ratio in higher

https://dl.doubtnut.com/l/_rl9Ec43JXEEP
https://dl.doubtnut.com/l/_2Usjkr69kfIl


secondary schools of India. Find the mode and

mean of this data. Interpet the two measures.

Watch Video Solution

30. The given distribution shows the number

of runs scored by some top batsman of the

world in one international cricket matches.

Watch Video Solution

https://dl.doubtnut.com/l/_2Usjkr69kfIl
https://dl.doubtnut.com/l/_qEGwgb36FzDi
https://dl.doubtnut.com/l/_XQdYC17A8zQ0


31. A student noted the number of cars

passing through a spot on a road for 100

periods, each of 3 minutes and summarised

this ini the table given below.

Watch Video Solution

32. A survey regarding the heights (in cm) of 51

girls of Class X of a school was conducted and

data was obtained as shown in table. Find

https://dl.doubtnut.com/l/_XQdYC17A8zQ0
https://dl.doubtnut.com/l/_xRCUEan89JDX


their median

Watch Video Solution

33. The median of the following data is 525.

find the values of x and y, if the total frequency

is 100. Here, Cl stands for class interval and Fr

for frequency.

Watch Video Solution

https://dl.doubtnut.com/l/_xRCUEan89JDX
https://dl.doubtnut.com/l/_FX6oakfVcLqt
https://dl.doubtnut.com/l/_QD8QCsmusom6


34. If the median of 60 observationss, give

below is 28.5, find the value of x and y.

Watch Video Solution

35. A life insurance agent found the following

data about distribution of ages of 100 policy

holders. Calculate the median age.(policies are

given only to perosns having age 18 years

onwards but less than 60 years.)

https://dl.doubtnut.com/l/_QD8QCsmusom6
https://dl.doubtnut.com/l/_iBlZLE4D9hj8


we find the class intervals and thier

corresponding frequencies to calculate the

median age.

Watch Video Solution

36. The lengths of 40 leaves of a plant are

measured correct to the nearest millimetre

and the data obtained is represented in the

following data:

Find the median length of the leaves 

https://dl.doubtnut.com/l/_iBlZLE4D9hj8
https://dl.doubtnut.com/l/_PN6BnLepHULO


The data needs to be converted to continuous

classes for findinig the median, since the

formula assumes continuous classes. The

classes then change to 117.5-126.5, 126.5-

135.5,...........171.5-180.5)

Watch Video Solution

37. The following table gives the distribution

of the life time of 400 neon lamps 

Find the median life time of a lamp.

https://dl.doubtnut.com/l/_PN6BnLepHULO
https://dl.doubtnut.com/l/_5CxPTZrulhvl


Watch Video Solution

38. 100 surnames were randomly picked up

from a local telephone directory and the

frequency distribution of the number of

letters in the English alphabet in the

surnames was obtained as follows:

Determine the median number of letters in

the surnames. Find the mean number of letter

in the surnames?Also, find the modal size of

the surnames.

https://dl.doubtnut.com/l/_5CxPTZrulhvl
https://dl.doubtnut.com/l/_miGaJ3iXzIEW


Watch Video Solution

39. The distribution below gives the weights of

30 students of a class. Find the median weight

of the students.

Watch Video Solution

40. The Median of the data K/6, K/4, K, K/3, K/2

is 14. Then find the "K"value.

https://dl.doubtnut.com/l/_miGaJ3iXzIEW
https://dl.doubtnut.com/l/_DnhkoYzhVu6w
https://dl.doubtnut.com/l/_DZ8zJgoVgjev


Watch Video Solution

41. If the Mean and median of a data are 32.5

and 37.62 respectively. Find the mode of the

data.

Watch Video Solution

42. Find the mean when the median is 72.8

mode is 65.

Watch Video Solution

https://dl.doubtnut.com/l/_DZ8zJgoVgjev
https://dl.doubtnut.com/l/_xbskcAjyHBn6
https://dl.doubtnut.com/l/_fVi6ZtyhtNQm


43. Find the median of the data given below:

14, 18, 9, 21, 15, 20, 16, 6

Watch Video Solution

44. Find the Median for the following data 30,

17, 12, 21, 33, 22

Ascending order: 12, 17, 21, 22, 30, 33

Watch Video Solution

https://dl.doubtnut.com/l/_EdK7pearvkyd
https://dl.doubtnut.com/l/_E2etVRGzCa2p


45. Find the mode of the following data.

20,3,7,13,3,4,6,7,19,15,7,18,3

Watch Video Solution

46. If the median of 60 observations, given

below is 28.5 find the value of x and y.

Watch Video Solution

https://dl.doubtnut.com/l/_jr8TiopXg19z
https://dl.doubtnut.com/l/_hAdD2vPDgNHt


47. The mean of x+y observations is x-y find the

sum of all the observations. Give mean of x + y

observations is x - y.

we know x = 

Watch Video Solution

Σfiui

fi

48. Find the medain and mode of the following

observation. 12,5,9,6,14,9 and 8.

Watch Video Solution

https://dl.doubtnut.com/l/_HCBCwUdW8JNq
https://dl.doubtnut.com/l/_aOHoXkRE4H78
https://dl.doubtnut.com/l/_op9atab1UUOl


49. Write the formula for calculating

'Arithmetic mean'. In step deivation method

and explain each letter in it.

Watch Video Solution

50. For the following data if the Median of 60

observation is 28.5 find the values of x and y.

Watch Video Solution

https://dl.doubtnut.com/l/_op9atab1UUOl
https://dl.doubtnut.com/l/_lcwsT1UCWVKL
https://dl.doubtnut.com/l/_pcLc4rblR72s


51. Find the mean of 5,6,9,10,6,12,3,6,11,10.

Watch Video Solution

52. Write the formula for the median of a

grouped data. Explain symbol with their used

meaning.

Watch Video Solution

53. Find the median of 5, 3, 1, , 6, 7, 0.

Watch Video Solution

−4

https://dl.doubtnut.com/l/_pcLc4rblR72s
https://dl.doubtnut.com/l/_ctTVc3FqO15j
https://dl.doubtnut.com/l/_D3M6qR6zPSd1


54. Find the mode of 5, 6, 9, 6, 12, 3, 6, 11, 6, 7.

Watch Video Solution

55. Find the mean of first ‘n’ natural numbers.

Watch Video Solution

56. Consider the following distribution of daily

wages of 50 workers of a factory.

https://dl.doubtnut.com/l/_D3M6qR6zPSd1
https://dl.doubtnut.com/l/_BnNb5YnpEhel
https://dl.doubtnut.com/l/_OMYKjNBZRI69
https://dl.doubtnut.com/l/_QyQgO5LQQUEW


find the mean daily wages of the workers of

the factory by using step deviation method.

Watch Video Solution

57. Find the mean daily wages of the workers

of the factory for using an appropriate

method In Rupees 

Watch Video Solution

https://dl.doubtnut.com/l/_QyQgO5LQQUEW
https://dl.doubtnut.com/l/_FbMACuAXdxdQ
https://dl.doubtnut.com/l/_HQI131dkoN1Y


58. Find the Mode following data

Watch Video Solution

59. Find the Mode of the following data

Watch Video Solution

https://dl.doubtnut.com/l/_HQI131dkoN1Y
https://dl.doubtnut.com/l/_ybnaO0EEXDwY


60. Find the Mode of following data

Watch Video Solution

61. Find the Mode of following data

Watch Video Solution

https://dl.doubtnut.com/l/_RDQ0LCaqlZzX
https://dl.doubtnut.com/l/_38kjy5T6ryR6


62. 100 surnames were randomly picked up

from a local telephone directory and the

frequency distribution of the number of

letters in the English alphabet in the

surnames was obtained as follows




Determine Median number of letters in the

surnames

Watch Video Solution

https://dl.doubtnut.com/l/_JqNuHKDTm9he


63. The distribution below gives the weights of

40 students of a class. Find the median weight

of the students.

Watch Video Solution

64. Find the median of the following data

Watch Video Solution

https://dl.doubtnut.com/l/_ZgYCs3ZkTgRD
https://dl.doubtnut.com/l/_8BWloNczHxpH
https://dl.doubtnut.com/l/_2d6u5XMIjBAX


65. Find the median of following data

Watch Video Solution

66. Find the median of 5, 3, 1, , 6, 7, 0.

Watch Video Solution

−4

67. Find the mean of 5,6,9,10,6,12,3,6,11,10.

Watch Video Solution

https://dl.doubtnut.com/l/_2d6u5XMIjBAX
https://dl.doubtnut.com/l/_fGDRzTgfbR2Q
https://dl.doubtnut.com/l/_yLYXJqC8S2CC


68. Find the mode of 5,6,5,11,12,12,5,5,1,0,2,3

Watch Video Solution

69. Find the mode of the following data

Watch Video Solution

https://dl.doubtnut.com/l/_yLYXJqC8S2CC
https://dl.doubtnut.com/l/_3CDfSYGsUR0w
https://dl.doubtnut.com/l/_0hgy8LO8Hnl9


70. Find the mode of following data

Watch Video Solution

71. Find the mean of following data

Watch Video Solution

https://dl.doubtnut.com/l/_fOzeehO4KDpP
https://dl.doubtnut.com/l/_qmjCYXw9e9p1


72. Find the median of the following data

Watch Video Solution

73. Find the mode of the following data

Watch Video Solution

https://dl.doubtnut.com/l/_fQOkFjpseH7S
https://dl.doubtnut.com/l/_egDYCl8EuKm3


74. Find the mean of the following data

Watch Video Solution

75. Find the mean for the following data

Watch Video Solution

https://dl.doubtnut.com/l/_UgigVOMwDfWX
https://dl.doubtnut.com/l/_JMmDAogagqXF


76. Calculate the mean for the following data

Watch Video Solution

77. Find the median of the following data.

Watch Video Solution

https://dl.doubtnut.com/l/_dR0h8KCT4trH
https://dl.doubtnut.com/l/_nVpA1X50lPEu


78. Find the mode of the following table

Watch Video Solution

79. Find the Median when mean 10.5 and mode

17.

Watch Video Solution

https://dl.doubtnut.com/l/_UyUCcdai6my8
https://dl.doubtnut.com/l/_vcTksA7XPz1H


80. Find the mode of the following

20,21,15,18,21,17,21

Watch Video Solution

81. Find the median of the following

30,25,26,101,100,720,1000

Watch Video Solution

https://dl.doubtnut.com/l/_vi2QJhY7uStv
https://dl.doubtnut.com/l/_trPjajefFYJg


Exercise

82. Find the median of the following

6,10,5,4,1,19

Watch Video Solution

1. The median of the data x/5, x, x/4, x/2 and

x/8 is 8. Find the value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_oGq9pMvedNol
https://dl.doubtnut.com/l/_8P97Ht9NHOaa
https://dl.doubtnut.com/l/_U50aqpJ7fFF7


2. If the mean and median of a data are 48.5

and 46.25 respectively. Find the mode of the

data.

Watch Video Solution

3. Find the mean when median is 72.5 and

mode is 70.

Watch Video Solution

https://dl.doubtnut.com/l/_U50aqpJ7fFF7
https://dl.doubtnut.com/l/_DLysACw0QKrh


4. Find the median when the mean is 28.5 and

mode is 27.

Watch Video Solution

5. Find the median of the data given below:

14, 18, 9, 21, 15, 20, 16, 6

Watch Video Solution

https://dl.doubtnut.com/l/_xN2T7QfTXRdJ
https://dl.doubtnut.com/l/_f7n0t90ck1Yy


6. Find the median for the following data:

28, 15, 11, 19, 31, 20

Watch Video Solution

7. Find the mode of the scores 4, 5, 3, 2,

5,3,6,5,7,1

Watch Video Solution

https://dl.doubtnut.com/l/_NbzDfvkzvQiR
https://dl.doubtnut.com/l/_WjsPttffMH5j


8. Find the mode of the scores 

18,21,14,18,21,16,21.

Watch Video Solution

9. Find the mode of the scores 

28,20,24,28,36,32,28,40

Watch Video Solution

10. Write upper limit of 20-25

https://dl.doubtnut.com/l/_Kre3GMiQILEA
https://dl.doubtnut.com/l/_CSZCJB3P8UXb
https://dl.doubtnut.com/l/_e8SJTynFJEa9


A. 22.5

B. 20

C. 25

D. 45

Answer:

Watch Video Solution

11. Write lower limit of 4-11

A. 7

https://dl.doubtnut.com/l/_e8SJTynFJEa9
https://dl.doubtnut.com/l/_Se5S2TX7dCnh


B. 4

C. 

D. 11

Answer:

Watch Video Solution

7 − 5

12. What is the mid value of 35-45

A. 40

B. 35

https://dl.doubtnut.com/l/_Se5S2TX7dCnh
https://dl.doubtnut.com/l/_Nq6Iylq3yBAf


C. 45

D. 10

Answer:

Watch Video Solution

13. The most frequently used measure of

central tendency

A. Median

B. Mode

https://dl.doubtnut.com/l/_Nq6Iylq3yBAf
https://dl.doubtnut.com/l/_taE5mVAtL763


C. Mean

D. None of these

Answer:

Watch Video Solution

14. The value of among the observation of

which occurs most frequently is called

A. Median

B. Mode

https://dl.doubtnut.com/l/_taE5mVAtL763
https://dl.doubtnut.com/l/_n6j4hayt11nD


C. Mean

D. None of these

Answer:

Watch Video Solution

15. The width of the class interval 20- 30 is

A. 10

B. 20

C. 30

https://dl.doubtnut.com/l/_n6j4hayt11nD
https://dl.doubtnut.com/l/_t5YlbMYUrL7z


D. 25

Answer:

Watch Video Solution

16. Which is the better measure of central

tendency when individual observations are not

important

A. mean

B. mode

https://dl.doubtnut.com/l/_t5YlbMYUrL7z
https://dl.doubtnut.com/l/_s2GgESesF7V6


C. median

D. None of these

Answer:

Watch Video Solution

17. Which measure of central tendency is given

by the x coordinate of the point of

intersection of the more than ogive and less

than ogive.

https://dl.doubtnut.com/l/_s2GgESesF7V6
https://dl.doubtnut.com/l/_mBKZmBWbu29d


A. mean

B. median

C. mode

D. weighteel mean

Answer:

Watch Video Solution

18. The A.M of first n natural numbers is

A. ( ) + 1
n

2

https://dl.doubtnut.com/l/_mBKZmBWbu29d
https://dl.doubtnut.com/l/_25pWOdRpMgsW


B. 

C. 

D. n/2

Answer:

Watch Video Solution

n − 1

2

n + 1

2

19. Which of the following is not a measure of

central tendency ?

A. standard deviation

https://dl.doubtnut.com/l/_25pWOdRpMgsW
https://dl.doubtnut.com/l/_KdKsemuPRSfg


B. mode

C. median

D. mean

Answer:

Watch Video Solution

20. If the mean of 4, x, 6,9,9,y and 13 is 8 then

A.  = 15

B. x - y = 16

x + y

https://dl.doubtnut.com/l/_KdKsemuPRSfg
https://dl.doubtnut.com/l/_YnhfKbGEcXiE


C. xy = 16

D. x + y =8

Answer:

Watch Video Solution

21. The mean of first 'n' odd natural numbers is

A. 

B. n

C. 

n

2

n2

https://dl.doubtnut.com/l/_YnhfKbGEcXiE
https://dl.doubtnut.com/l/_rPeuRabyLUTA


D. 

Answer:

Watch Video Solution

n + 1

2

22. If the mean of first n natural numbers is 11

then n =

A. 11

B. 12

C. 9

https://dl.doubtnut.com/l/_rPeuRabyLUTA
https://dl.doubtnut.com/l/_RqwISuDi3DZU


D. 21

Answer:

Watch Video Solution

23. Median of first 8 prime numbers is .......

A. 7

B. 11

C. 9

D. 5

https://dl.doubtnut.com/l/_RqwISuDi3DZU
https://dl.doubtnut.com/l/_VWVyfWCcMJc9


Answer:

Watch Video Solution

24. If the median of the data 15,16,17,2x + 4, 3x -

2, 21,22 written in ascending order is 18 then x

A. 6

B. 5

C. 8

D. 7

https://dl.doubtnut.com/l/_VWVyfWCcMJc9
https://dl.doubtnut.com/l/_HmawqRaiEMbE


Answer:

Watch Video Solution

25. Empirical relation among mean, median

and mode is .........

A. Mode = 3 median - 2 mean

B. Mode = 2 median - 3 mean

C. Mode =

D. Mode = 

3median ÷ 2mean

2median ÷ 3mean

https://dl.doubtnut.com/l/_HmawqRaiEMbE
https://dl.doubtnut.com/l/_d3B3mFOWUkcP


Answer:

Watch Video Solution

26. If 35 is removed from the data,

30,34,35,36,37,38,39,40 the median is increased

by

A. 0.5

B. 1

C. 1.5

D. 3

https://dl.doubtnut.com/l/_d3B3mFOWUkcP
https://dl.doubtnut.com/l/_kasDCauRxVzY


Answer:

Watch Video Solution

27. The median and mean of a distribution of

29 and 32 respectively then mode

A. 25.5

B. 23

C. 18

D. 30.5

https://dl.doubtnut.com/l/_kasDCauRxVzY
https://dl.doubtnut.com/l/_4McVvvKy0Fga


Answer:

Watch Video Solution

28. The mode of the distribution

2,5,7,4,5,6,5,4,3 is

A. 4

B. 6

C. 5

D. 3

https://dl.doubtnut.com/l/_4McVvvKy0Fga
https://dl.doubtnut.com/l/_kYy9RksIYYYt


Answer:

Watch Video Solution

29. The median of the observations 15, 12,

14,20,16,10 is

A. 14

B. 15

C. 13.5

D. 14.5

https://dl.doubtnut.com/l/_kYy9RksIYYYt
https://dl.doubtnut.com/l/_c3nPZU0dSJmi


Answer:

Watch Video Solution

30. The mid value of the class 10 - 19 is

A. 9

B. 10

C. 14.5

D. 29

Answer:

https://dl.doubtnut.com/l/_c3nPZU0dSJmi
https://dl.doubtnut.com/l/_Q6CobPABTUKH


Watch Video Solution

31. Mid values are used to calculate ..........

A. A.M.

B. Median

C. Mode

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Q6CobPABTUKH
https://dl.doubtnut.com/l/_E1dvt52i9Wl7


32. The mean of x - 1, x and x + 1 is

A. x

B. x - y = 16

C. 

D. 

Answer:

Watch Video Solution

3x − 1

3

3x + 1

3

https://dl.doubtnut.com/l/_E1dvt52i9Wl7
https://dl.doubtnut.com/l/_5ZlYCh8AmoQy


33. If mean = x, median = y then mode

A. 

B. 

C. 2y - 3x

D. 

Answer:

Watch Video Solution

x ÷ y

2

3y − 2x

( ) ÷ ( )
x

2

y

3

https://dl.doubtnut.com/l/_kkAir2oDP8qH


34. The median of the observations 3, 18, 6, 16,

12 and 10 is

A. 11

B. 10

C. 12

D. 13

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FTs9CVOAxm8d
https://dl.doubtnut.com/l/_jB3JcGeapK8I


35. If mean of 8,6,4,x,3,6 and 0 is 4 then the

value of x =……

A. 7

B. 6

C. 1

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jB3JcGeapK8I


36. The extreme values of some data influences

high on……..

A. AM

B. Median

C. Mode

D. Range

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_e6nhi2KqyOuW
https://dl.doubtnut.com/l/_dd7XgBJlOyEr


37. In a data 'n' scores are given and if 'n' is

odd, then median is ..........

A. event

B. event

C. event

D.  event

Answer:

Watch Video Solution

(n ÷ 1)th

2

nth

(n − 1)
t
h

2

(n − 1)th

https://dl.doubtnut.com/l/_dd7XgBJlOyEr


38. The class mark of 10-25 is………..

A. 10

B. 25

C. 17.5

D. 17

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_iofOhZwmTQBR


39. Mode of the data 5, 3, 4, -2, 3, 2, 2, 1, p is 3

then the value of 'p' = ........

A. 2

B. 5

C. -2

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vYDH60eTIg0C
https://dl.doubtnut.com/l/_Dchoh7vLYaPl


40. Class interval of the class 11-20 is .........

A. 9

B. 10

C. 11

D. 20

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Dchoh7vLYaPl


41. If mean of 8,6,4,x,3,6 and 0 is 4 then the

value of x =……

A. 7

B. 6

C. 1

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_sHVL8ZeB6hXB
https://dl.doubtnut.com/l/_nH2VUPomI9gQ


42. AM of 1, 2, x, 3 is 0 then x = ....

A. 6

B. 26

C. 24

D. 30

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nH2VUPomI9gQ


43. If the sum of 15 observations is 420 then

their mean = ..........

A. 28

B. 26

C. 24

D. 30

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3tv7NbuBc4y5
https://dl.doubtnut.com/l/_xdEcojPOOGB5


44. In "more than ogive curve" we consider in

drawing………..

A. more than cumulative frequency, lower

limits

B. more than cumulative upper limits

C. lower than cumulative frequency, lower

limits

D. lower than cumulative frequency, upper

limits.

Answer:

https://dl.doubtnut.com/l/_xdEcojPOOGB5


Watch Video Solution

45. If , is the mean of , , ,…………..  (n

items) then =...........

A. 0

B. 

C. 

D. 

Answer:

x̄ x1 x2 x3 xn

n

Σ
i= 1

(Xi− ¯̄X̄ )

n¯̄X̄

X

n

2¯̄X̄

n

https://dl.doubtnut.com/l/_xdEcojPOOGB5
https://dl.doubtnut.com/l/_a9fDeLS0cTUN


Watch Video Solution

46. Mode can be calculated by =

 here  represents

......

A. frequency of the modal class

B. frequency of class preceding modal class

C. frequency of class succeeding in the

modal class

l + ( ) × h
f1 − f0

2f1 − f0 − f2

f1

https://dl.doubtnut.com/l/_a9fDeLS0cTUN
https://dl.doubtnut.com/l/_0mMcgSBzj6V2


D. cumulative frequency of the class

preceding the modal class

Answer:

Watch Video Solution

47. , x, , ,  If the mode of (x > 0)is 5

then x=

A. 20

B. 10

x

4

x

5

x

6

x

4

https://dl.doubtnut.com/l/_0mMcgSBzj6V2
https://dl.doubtnut.com/l/_0DAszv6lRtOh


C. 15

D. 8

Answer:

Watch Video Solution

48. If 20 is removed from the data 20, 24, 25,

26,27,28,29,30 then the median is increased by

A. 1

B. 1.5

https://dl.doubtnut.com/l/_0DAszv6lRtOh
https://dl.doubtnut.com/l/_a0XIZ9Ruh6ck


C. 0.5

D. 2

Answer:

Watch Video Solution

49. Which of the following measures of central

tendency is mostly effected by the extreme?

A. Mean

B. Median

https://dl.doubtnut.com/l/_a0XIZ9Ruh6ck
https://dl.doubtnut.com/l/_5XRTqvOSnC0F


C. Mode

D. Range

Answer:

Watch Video Solution

50. The middle most value of a data is called

A. Mean

B. Mode

C. Median

https://dl.doubtnut.com/l/_5XRTqvOSnC0F
https://dl.doubtnut.com/l/_vz0hCRF8GkgL


D. Both B and C

Answer:

Watch Video Solution

51. If the mean of 4, x, 6,9,9,y and 13 is 8 then

the relation between X and Y is

A. X + Y =15

B. X - Y = 15

C. XY = 15

https://dl.doubtnut.com/l/_vz0hCRF8GkgL
https://dl.doubtnut.com/l/_ZpcvigEahIhr


D. 2X - 3Y = 15

Answer:

Watch Video Solution

52. The symbol of "implies" is…….

A. 

B. 

C. 

D. 

⇒

⇔

∀

∃

https://dl.doubtnut.com/l/_ZpcvigEahIhr
https://dl.doubtnut.com/l/_7QcjFs1GrkkS


Answer:

Watch Video Solution

53. Range of the data 16,17,15,11,18,23,10,9,10

A. 14

B. 13

C. 7

D. 13

Answer:

https://dl.doubtnut.com/l/_7QcjFs1GrkkS
https://dl.doubtnut.com/l/_53YRssyf9hCs


Watch Video Solution

54. The class marks of a class interval is ..........

A. upper boundary + lower boundary

B. upper boundary - lower boundary

C. 

D. 

Answer:

Watch Video Solution

upperboundary + Lowerboundary

2

upperboundary − Lowerboundary

2

https://dl.doubtnut.com/l/_53YRssyf9hCs
https://dl.doubtnut.com/l/_sHwU97XFI9f3


55. If mode of the following data is 7, then the

value of 6, 3, 5, 6, 7, 5, 8, 7, 6, 2k + 1, 9, 7, 13 is

A. 

B. 3

C. 7

D. 5

Answer:

Watch Video Solution

5

2

https://dl.doubtnut.com/l/_sHwU97XFI9f3
https://dl.doubtnut.com/l/_pozWtj8lgo3t
https://dl.doubtnut.com/l/_SZDZWJz7VklW


56. Which of the following is not a measure of

central tendency ?

A. Mean

B. Median

C. Range

D. Mode

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SZDZWJz7VklW
https://dl.doubtnut.com/l/_pDjbfZ0KLdTV


57. For a symmetrical distribution, which is

correct ?

A. 

B. 

C. Mode= 

D. Mean = Meidan = Mode

Answer:

Watch Video Solution

Mean < Mo∂ tMedian

Mean > Mode > Median

Mean + Median

2

https://dl.doubtnut.com/l/_pDjbfZ0KLdTV


58. The measure of central tendency which

take into account all data terms is

A. Mode

B. Mean

C. Median

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hMvoWV2qas7r
https://dl.doubtnut.com/l/_sr1rFxtOP6Rd


59. A data arrange in descending order has 25

observations. Which observation represents

the median ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

12th

13th

14th

15th

https://dl.doubtnut.com/l/_sr1rFxtOP6Rd
https://dl.doubtnut.com/l/_6DULR7oqDjoq


60. Construction of cumulative frequency table

is useful in determining the

A. Mean

B. Median

C. Mode

D. All the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6DULR7oqDjoq


61. For a given data with,60 observations, 'the

less than ogive' and 'the more than ogive'

intersect at (66.5, 30). The median of the data

is ..........

A. 30

B. 66.5

C. 60

D. 36.5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CLyr3iqHoqN6


Watch Video Solution

62. For a given data with 50 observations 'the

less than ogive' and the more than ogive

intersect at (15.5, 20). The median of the data

is ........

A. 10.5

B. 4.5

C. 20

D. 15.5

https://dl.doubtnut.com/l/_CLyr3iqHoqN6
https://dl.doubtnut.com/l/_f5g0UXJqXJaj


Answer:

Watch Video Solution

63. The abscissa of the point of intersection of

the less than type and 'more than type'

cumulative frequency curves of a grouped

data gives its ..........

A. Mean

B. Mode

C. Mode

https://dl.doubtnut.com/l/_f5g0UXJqXJaj
https://dl.doubtnut.com/l/_z6PscuAPE7xP


D. None

Answer:

Watch Video Solution

64. For a distribution with odd number (n) of

observations, the median is ............ th

observation.

A. 

B. 

n

2

n − 1

2

https://dl.doubtnut.com/l/_z6PscuAPE7xP
https://dl.doubtnut.com/l/_MbgG0yfDuX80


C. 

D. 

Answer:

Watch Video Solution

n + 1

2

− 1
n

2

65. For a distribution with even number (n) of

observations, the median is .......... terms.

A. 

B. 

[ + ( + 1)
th

]
1

2

nth

2

n

2

[ − ]
1

2

n

2

n − 1

2

https://dl.doubtnut.com/l/_MbgG0yfDuX80
https://dl.doubtnut.com/l/_IxIO2rdjeNT4


C. 

D. None

Answer:

Watch Video Solution

+
n

2

n + 1

2

66. For a continuos grouped frequency

distribution the meidan is given by

A. 

B. 

l + [ ]h
− fn

2

c

l + [ ] × h
− cf

n

2

f

https://dl.doubtnut.com/l/_IxIO2rdjeNT4
https://dl.doubtnut.com/l/_aEu9tdaXiQUR


C. 

D. None

Answer:

Watch Video Solution

l2 + [ ]
+ cfn

2

h

67. Class marks of a class  is ...........

A. 

B. 

C. xy

x − y

( ) + y
x

2

x

2

https://dl.doubtnut.com/l/_aEu9tdaXiQUR
https://dl.doubtnut.com/l/_DXweciWaylrY


D. 

Answer:

Watch Video Solution

x + y

2

68. Mean of n-observations ,…………….,

repeated …………….  times if……….

A. 

B. 

x1, x2 xn

f1, f2, f3 fn

n

Σ
i= 1

fixi

n

Σ
i= 1

fi

fixi

xi

https://dl.doubtnut.com/l/_DXweciWaylrY
https://dl.doubtnut.com/l/_LhZszAEG7UTy


C. 

D. None

Answer:

Watch Video Solution

fi
n

Σ
i= 1

fi

69. Mode of a continuous grouped

distribution is ..........

A. 

B. l + (f_1 - f_0)/[(f_1 - f_0)]xxh`

l + × h
f1 − f0

(f1 − f0) + (f1 − f2)

https://dl.doubtnut.com/l/_LhZszAEG7UTy
https://dl.doubtnut.com/l/_N3M8rZnwqLA8


C. 

D. None

Answer:

Watch Video Solution

l2 +
f1 − f0

(f1 − f0 − f2] × h

70. If assumed mean is a then mean=………

A. 

B. 

C. 

a2 + Σ(fidi)

a + Σ(fidi)

a − Σfi

https://dl.doubtnut.com/l/_N3M8rZnwqLA8
https://dl.doubtnut.com/l/_TU2yahvKgwqN


D. 

Answer:

Watch Video Solution

a +
Σfidi

Σfi

71. Mode is the value of variate which occurs

........... number of times.

A. 2

B. maximum

C. minimum

https://dl.doubtnut.com/l/_TU2yahvKgwqN
https://dl.doubtnut.com/l/_xni7Mm6J1M9f


D. none

Answer:

Watch Video Solution

72. If each observation of a data is increased

by 'a' then mean is increases by .......

A. 

B. a

C. 

a2

a

2

https://dl.doubtnut.com/l/_xni7Mm6J1M9f
https://dl.doubtnut.com/l/_MTugPyaAPCYX


D. a + 1

Answer:

Watch Video Solution

73. If the mean of  is  then

the mean of  is .......

A. 

B. 

C. x-a

x1, x2, .... . , xn x̄

, , ....
x1

a

x2

a

xn

a

x̄

a

( ) − 1
x

a

https://dl.doubtnut.com/l/_MTugPyaAPCYX
https://dl.doubtnut.com/l/_vdw0EzyiIq4Q


D. xa

Answer:

Watch Video Solution

74.  = ....

A. mode

B. median

C. scale

D. mean

(Sum of observations)

(Number of observations)

https://dl.doubtnut.com/l/_vdw0EzyiIq4Q
https://dl.doubtnut.com/l/_MpKtVE9gQGFg


Answer:

Watch Video Solution

75. Mean of 1, 2, 3,...., n is .........

A. 

B. 

C. 

D. none

Answer:

( ) − 1
n

2

n

2

n ÷ 1

2

https://dl.doubtnut.com/l/_MpKtVE9gQGFg
https://dl.doubtnut.com/l/_QHCKci5zn01C


Watch Video Solution

76. A.M. of 23, 24, 24, 22, 10 is ......

A. 21.6

B. 22.6

C. 12.6

D. 81.6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QHCKci5zn01C
https://dl.doubtnut.com/l/_LkwyqBMMcTcS


77. Mode of 1, 2, 3, ... 10, 10 is .......

A. 1

B. 0

C. no mode

D. 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_LkwyqBMMcTcS
https://dl.doubtnut.com/l/_PSulZy4SzOtS


78. Mode of 5,6,9,10,6,12,3,6,11,10,4,6,7 is………..

A. 8

B. 7

C. 6

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vgy5f1QxNnrP


79. Mode of 20,3,7,13,3,4,6,7,19,15,7,18,2,3 is………….

A. 3,7

B. 7,10

C. 13,3

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_lF4MVFTDiidK


80. Mode of 0, 1, 2, 3, 3, 3, 7 is ........

A. 3

B. 0

C. 1

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vcHdQH2IGQ2S


81. Representing the data with the help of

pictures is called ..........

A. data

B. pictograph

C. bar graph

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xZFRGe1tSd01
https://dl.doubtnut.com/l/_IHqOZCN3ua9q


82. Mid value of the class 10 - 20 is ......

A. 13

B. 12

C. 10

D. 15

Answer:

Watch Video Solution

83. Histogram consists of .......

https://dl.doubtnut.com/l/_IHqOZCN3ua9q
https://dl.doubtnut.com/l/_1ta9rlqpaU3S


A. rectangles

B. circles

C. triangles

D. none

Answer:

Watch Video Solution

84. Pie diagram consists of ........

A. circles

https://dl.doubtnut.com/l/_1ta9rlqpaU3S
https://dl.doubtnut.com/l/_sy9MVYSQBoaI


B. sectors

C. rectangles

D. none

Answer:

Watch Video Solution

85. Data having two modes is called ........ data.

A. unimodal

B. bimodal

https://dl.doubtnut.com/l/_sy9MVYSQBoaI
https://dl.doubtnut.com/l/_TOz1z6uDAM4I


C. trimodal

D. none

Answer:

Watch Video Solution

86. Mid values are used to calculate ..........

A. mean

B. mode

C. median

https://dl.doubtnut.com/l/_TOz1z6uDAM4I
https://dl.doubtnut.com/l/_hNQac04PXhbj


D. none

Answer:

Watch Video Solution

87. 1-8, 9-16, 17-24, ........అయిన C.I=............

A. 12

B. 10

C. 9

D. 8

https://dl.doubtnut.com/l/_hNQac04PXhbj
https://dl.doubtnut.com/l/_9STFuEWjGI5g


Answer:

Watch Video Solution

88. Range of 1, 2, 3, ....... 10 is ....

A. 13

B. 12

C. 8

D. 9

Answer:

https://dl.doubtnut.com/l/_9STFuEWjGI5g
https://dl.doubtnut.com/l/_Lefi5Emsmy45


Watch Video Solution

89. Mean of 7, 6, 5, 0, 7, 8, 9 is .......

A. 6

B. 8

C. 9

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Lefi5Emsmy45
https://dl.doubtnut.com/l/_yalOQiFW2T2V


90. If mode of a distribution is 8 and its mean

is 8 then median is .......

A. 6.1

B. 18.2

C. 9

D. 8

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yalOQiFW2T2V
https://dl.doubtnut.com/l/_GLOkn8p64ESe
https://dl.doubtnut.com/l/_Tsf2J8EeV8lJ


91. if the mean of 10,12,13,p and 17 is 15 then

p=……..

A. 20

B. 10

C. 30

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Tsf2J8EeV8lJ
https://dl.doubtnut.com/l/_NvGUDA2ZDJBU


92. The mean of first five prime numbers is ........

A. 8.1

B. 7.3

C. 6.5

D. 5.6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NvGUDA2ZDJBU


93. The median of the data 5, 3, 10, 7, 2, 9, 11, 2,

6 is ........

A. 6

B. 2

C. 1

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_T6e9lcy1y65l
https://dl.doubtnut.com/l/_bIn83PwzcvyT


94. Mode of first 'n' natural numbers is ........

A. n-1

B. 

C. 

D. no mode

Answer:

Watch Video Solution

n2

n ÷ 1

95. ..........is effected by extreme values.

https://dl.doubtnut.com/l/_bIn83PwzcvyT
https://dl.doubtnut.com/l/_kW0S0D06yDfs


A. mean

B. mode

C. median

D. none

Answer:

Watch Video Solution

96. Mean of - 8, - 4 and 4, 8 is ......

A. -4

https://dl.doubtnut.com/l/_kW0S0D06yDfs
https://dl.doubtnut.com/l/_lgFl78hKpQyr


B. 8

C. 0

D. 7

Answer:

Watch Video Solution

97. Range of first 5 natural numbers is.......

A. 9

B. 0

https://dl.doubtnut.com/l/_lgFl78hKpQyr
https://dl.doubtnut.com/l/_GbyGzXkkMes1


C. 5

D. 4

Answer:

Watch Video Solution

98. Empirical relation among mean, median

and mode is .........

A. Mode = 3 median - 2 mean

B. Mode = 2 median - 3 mean

https://dl.doubtnut.com/l/_GbyGzXkkMes1
https://dl.doubtnut.com/l/_7MJNdNXirm96


C. mode = 3 median - mean

D. all the above

Answer:

Watch Video Solution

99. AM of =……..

A. 40

B. 50

C. 60

12, 22, 32, 42……….202

https://dl.doubtnut.com/l/_7MJNdNXirm96
https://dl.doubtnut.com/l/_L1rDnmnvTi0u


D. none

Answer:

Watch Video Solution

100. Which of the following is not a measure

of central tendency ?

A. mean

B. range

C. median

https://dl.doubtnut.com/l/_L1rDnmnvTi0u
https://dl.doubtnut.com/l/_s5zcyEn3eKHg


D. none

Answer:

Watch Video Solution

101. A data has 13 observations arranged in

descending order which observation

represents the median of data?

A. 

B. 

17th

6th

https://dl.doubtnut.com/l/_s5zcyEn3eKHg
https://dl.doubtnut.com/l/_0kzt8UszR0uA


C. 

D. none

Answer:

Watch Video Solution

7th

102. In the formula of mode in the grouped

data l represents ......

A. upper boundary

B. lower boundary

https://dl.doubtnut.com/l/_0kzt8UszR0uA
https://dl.doubtnut.com/l/_Qf86aZLJS16e


C. limit

D. lower limit of the class with highest

frequency

Answer:

Watch Video Solution

103. In an arranged series of an even number

2n terms the median is .........

A. (n + 1)th
1

2

https://dl.doubtnut.com/l/_Qf86aZLJS16e
https://dl.doubtnut.com/l/_CF5jijISE8Ts


B. 

C. 

D. none

Answer:

Watch Video Solution

(nth and (n + 1)thterm)
1

2

(nth)
1

2

104. AM of 1, 2, x, 3 is 0 then x = ....

A. -6

B. 6

https://dl.doubtnut.com/l/_CF5jijISE8Ts
https://dl.doubtnut.com/l/_gA7U4MpjLnwm


C. 7

D. none

Answer:

Watch Video Solution

105. AM of first n odd numbers is ...

A. 2n

B. 

C. 

n2

n

2

https://dl.doubtnut.com/l/_gA7U4MpjLnwm
https://dl.doubtnut.com/l/_3bEDe1o6gCwL


D. n

Answer:

Watch Video Solution

106. Mean of 6,-4,2/3,5/4,7/6 is………

A. 

B. 

C. 

D. none

12

7

11

4

11

20

https://dl.doubtnut.com/l/_3bEDe1o6gCwL
https://dl.doubtnut.com/l/_s3qYko3LnxlO


Answer:

Watch Video Solution

107. The information collected is called ..........

A. median

B. mean

C. mode

D. data

Answer:

https://dl.doubtnut.com/l/_s3qYko3LnxlO
https://dl.doubtnut.com/l/_U97CEEtRCWDv


Watch Video Solution

108. In a data mean = 72.5 and median = 73.9

then mode is .........

A. 70.7

B. 69.1

C. 60.2

D. none

Answer:

https://dl.doubtnut.com/l/_U97CEEtRCWDv
https://dl.doubtnut.com/l/_ubjQRhaCFjKd


Watch Video Solution

109. Mode of any 3 consecutive numbers is

..........

A. x + 1

B. 4

C. 3

D. no mode

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ubjQRhaCFjKd
https://dl.doubtnut.com/l/_SzXQFcwWf5Q8


110. ..........is based on all observations.

A. mean

B. median

C. mode

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SzXQFcwWf5Q8
https://dl.doubtnut.com/l/_3lGY7aEzd5rY
https://dl.doubtnut.com/l/_ySr5rEuBVtCm


111. The mean of first 5 odd multiples of 5 is

........

A. 25

B. 20

C. 35

D. 15

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ySr5rEuBVtCm


112. Median = 52.5, mean = 54, use empirical

relation and find mode = ........

A. 48.5

B. 60.1

C. 49.5

D. 40.5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2SrI06ZhLeeA
https://dl.doubtnut.com/l/_A0Bz4TvhGoGL


113. Mode = 24.5, mean = 29.75 then median

[using empirical relation] = ........

A. 28

B. 16

C. 82

D. 20

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_A0Bz4TvhGoGL


114. ..........of all bars is same in bar graph.

A. width

B. length

C. circle

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8qctpq6QHY9A


115. The median class of the following

distribution is…………

A. 60-70

B. 50-60

C. 40-50

D. 30-40

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_cL8wgn3VoVJI


116. For a given data with 120 observations, the

'less than ogive' and the 'more than ogive'

intersect at (42.5,60) the median of the data

is........

A. 42.5

B. 32.7

C. 90.2

D. none

Answer:

https://dl.doubtnut.com/l/_cL8wgn3VoVJI
https://dl.doubtnut.com/l/_IPojfV2cK1O6


Watch Video Solution

117. Find the Median when mean 10.5 and

mode 17.

Watch Video Solution

118. Find the mode of the following

20,21,15,18,21,17,21

Watch Video Solution

https://dl.doubtnut.com/l/_IPojfV2cK1O6
https://dl.doubtnut.com/l/_0Y53hdYZs44w
https://dl.doubtnut.com/l/_pY4jiSgVs03M
https://dl.doubtnut.com/l/_QsWhOSlsGBVo


119. Find the median of the following

30,25,26,101,100,720,1000

Watch Video Solution

120. Find the median of the following

6,10,5,4,1,19

Watch Video Solution

121. Unimodal data may have ....... modes.

https://dl.doubtnut.com/l/_QsWhOSlsGBVo
https://dl.doubtnut.com/l/_sPcoP9sfsAQm
https://dl.doubtnut.com/l/_KKUWBXijUoUU


A. 4

B. 6

C. 2

D. 1

Answer:

Watch Video Solution

122. C.I. of 1-10 is………..

A. 1

https://dl.doubtnut.com/l/_KKUWBXijUoUU
https://dl.doubtnut.com/l/_tdJx2bTZ41bR


B. 10

C. 12

D. 8

Answer:

Watch Video Solution

123. In calculating mode  =................

A. 

B. 

Δ1

f − f1

f − f2

https://dl.doubtnut.com/l/_tdJx2bTZ41bR
https://dl.doubtnut.com/l/_zxiLvQGNw8Eb


C. 

D. none

Answer:

Watch Video Solution

f1 − f2

124. ,  అయిన  =....

A. 29

B. 16

C. 10

∑ fx = 200 n = 20 x̄

https://dl.doubtnut.com/l/_zxiLvQGNw8Eb
https://dl.doubtnut.com/l/_BgijTwkZNimW


D. 20

Answer:

Watch Video Solution

125. AM of  is .......

A. 3a

B. a

C. 

D. 1

a − 2, a, a + 2

a

3

https://dl.doubtnut.com/l/_BgijTwkZNimW
https://dl.doubtnut.com/l/_thmsL83Bmvnu


Answer:

Watch Video Solution

126. Mean - mode = ........

A. 3(mean - median)

B. (mean - 2 median)

C. 2 mean - median

D. none

Answer:

https://dl.doubtnut.com/l/_thmsL83Bmvnu
https://dl.doubtnut.com/l/_eHJESVaAj4QX


Watch Video Solution

127. AM of 1/3, 7/12, 3/4,1/2, 5/6 is………….

A. 3

B. 12

C. 10

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eHJESVaAj4QX
https://dl.doubtnut.com/l/_VMbkr6eIioT0


128. AM of 3 and 4 is……….

A. 3.1

B. 4

C. 3.5

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_VMbkr6eIioT0
https://dl.doubtnut.com/l/_ZV43Tc54ijOP


129. Mean of  and  is

........

A. a + 7

B. a + 4

C. a - 3

D. none

Answer:

Watch Video Solution

a + 1, a + 3, a + 4 a + 8

https://dl.doubtnut.com/l/_yLrimsCgoMMv
https://dl.doubtnut.com/l/_gK7KOOE7YqIY


130. If the mean of the data 2, a + 1, a - 2 is 4

then a =……….

A. 31

B. 3

C. 9

D. 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gK7KOOE7YqIY


131. Mean of 5, 7, 9, x is 9 then x =…….

A. 19

B. 11

C. 10

D. 15

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_baOTnLzMT7EZ


132. ...........is known as father of statistics.

A. Cayley

B. Thales

C. Fisher

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OyhWrOPAHcCg


133. In a data maximum value = x, minimum

value = y then Range = ........

A. x - y

B. x + y

C. x - 1

D. 

Answer:

Watch Video Solution

x ÷ y

https://dl.doubtnut.com/l/_8vVZB9h1ZYXx
https://dl.doubtnut.com/l/_5x8Y5lI1xffb


134. The sum of all deviations taken from AM =

.........

A. 1

B. 0

C. -1

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5x8Y5lI1xffb


135. Mode of 2004, 2005, 2006 ........ 2014 is .........

A. 2004

B. 2014

C. 2009

D. no mode

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GhyaOzSAS02t


136. Construction of cumulative frequency

table is useful in determining the

A. Median

B. Mode

C. Mean

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mJhnNQXB9K2e
https://dl.doubtnut.com/l/_W2UydzM07Y6V


137. Cumulative frequency curves are called as

......... curves.

A. median

B. scale

C. ogive

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_W2UydzM07Y6V


138. Find the median of first six prime numbers

.

Watch Video Solution

139. The median of 2, 3,5,7,11,13

Watch Video Solution

140. The mode of 2,2,4,5,5,7,6,1,0

Watch Video Solution

https://dl.doubtnut.com/l/_UB4esnmCUL86
https://dl.doubtnut.com/l/_fidfiWpyVHNx
https://dl.doubtnut.com/l/_wFzZ0ZUBg8Ud


141. The median of 1,3,5,7,11,13

Watch Video Solution

https://dl.doubtnut.com/l/_wFzZ0ZUBg8Ud
https://dl.doubtnut.com/l/_HJkuKzODNBnP

